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RO % RE L 78 E 0,
(1) (a+b)*—2b(a+Db)+ (a—b)b—a(b—a)

(2) Cx+1)(2x—3)+3x(x+1)+x—25

(3) (y+2)(xy —2) — (x + 2y)(x — 2y)

(4) (7x—9)* — (8x —5)(5x —2) — (2x + 3)(2x — 3)
(5) 2(y—2)x* —3(x — 3)y*

B
(1) (a+b)?>-2b(a+b)+ (a—b)b—a(b—a) 4) (7x=9)%-(8x—5)(5x — 2)
= a® + 2ab + b? — 2ab — 2b? + ab — b? - (2x+3)2x—3)
—ab +a? = 49x% — 126x + 81 — 40x? + 41x — 10
= 2a® — 2b? —4x2+9
=2(a%? - b?) = 5x2 — 85x + 80
=2(a+b)(a—b>b) =5(?—17x + 16)

=5(x—16)(x—1)

(2) 2x+1)@2x—-3)+3x(x+1)+x—-25

=4x% —4x —3+3x?>+3x+x—25 (5) 2(y —2)x? —3(x — 3)y?

=7x%-28 = 2x%y — 4x? — 3xy? + 9y?
=7(x%—-4) = xy(2x — 3y) — 2x — 3y)(2x + 3y)
=7(x+2)(x—2) = (2x = 3y)(xy — 2x — 3y)

(3) (xy+2)(xy —2) — (x + 2y)(x — 2y)
=x%y% —4 — x? + 4y?
=?-Dx* +40* -1
=(x*+)0*-1)
=(xX2+Dy+ Dy —-1)
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